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SECTION 05-—10127—00—-BR BEGINS STA. 2+00.00

STA. 5+05.00 EXISTING STRUCTURE NO. 0403087
SINGLE SPAN CONCRETE ARCH BRIDGE

42’ BK.— BK. ABUTMENTS

CLOSED CONCRETE ABUTMENTS

TOTAL SHEET
ROUTE SECTION COUNTY LS NEE
TR. 186A 05-10127-00~BR JASPER 15 3

CONTRACT NO. 95620 ILLINOIS |  PROJECT BROS—079(140)

SECTION 05-10127—00—-BR ENDS STA. 8+00.00
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PILES SET IN ROCK — S. ABUTMENT M = 15.66 M = 3.57 M = 9.53
PILE BENT / SPILLTHROUGH — N. ABUTMENT Pl Sta = 2+15.14 Pl Sta = 3+78.38 Pl Sta = 5+90.89
CURVE 4 CURME 5
5+90.89 CIRCULAR CIRCULAR
TIES P.I. STA. 3+78.38 = 09'57'43" D = 26°38'04"
D = 09'59'13" Da = 54414'58"
STEEL PN STEEL PIN De = 09'59'59" Dc = 56°30'45"
: T = 50.00 T = 25.00
4 wﬁw_& STEEL PIN R = 573.70 R = 105.62
L = 99.75 L = 4910
¢ = 99.62 C = 48.66
TRANSITION EXISTING ROADWAY TO PROPOSED ROADWAY E =217 E =292
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